@ m)wm./mmﬂwf No. 2

XFORHE

ROFHEZ LS

1) 3x°+4x—Xx*—7X
=37 - 2+ 4x-"1%
= 9q* - 3K

(2 4x2—3Xx+5x—Xx2
= 4x> - -3xt 8%
= 3+ 20

B) 5@—2y)—-3(2x—7y)
=5x-10% -bx+21%
=tx-bx—l04121¢

= - +1Y
3
@ os(-2a|” "
nmo&x hl.m.m
= — ?%oa V
=-8b

©) wav|as

(0 12ab-+(—3a)? X2ab
= 120b2 9a% x2ab
{.TMWT«, M.PU
KT
- IumTﬂ

—

(8 18a=+9a2X2ab?

_ e x 2mb?
N

= 4b

9) Inm (—12ab)x M%N
_ z 2 ,Uﬂ
_ % -8
=.2F « TaRs, T E
| 3 |
- 2 a2
10) 2a+3b . a-+5b
4 3
= 3(a13h)  ¢(a+$b)
- 12 12

— 3(ar3b)-¢(@+sb)
12
- ba+9b-%a-20b

12
20-11b
12

—
-

x—=2y x—y

6 8
_«x-24)  3(x-9)
Tz 2%

Y (X~24)-3(x—4)

ey

24
4xX~§¢-3x136

24
x —$&

2y

—
—

3x—y —Xx+y

-

3 2
2@3x-8)_ 3(-X+4)
3 é
2(3x-¢)-3(x14)
B 6
bx-2% +w.ﬂl,wm,
6
Qx -$¢
6

(12)

—-—

Sx—2y x—3y
6 2
_ Sx-24 3(x-34)
-6 6
5 x-24-3(2=34)
6
Ex-24-3x+9¢
é
ox +7¢
- 6

ERXOER
ROER%E [ ) ADTFERAVTEERED
(14) Tx+2y=4 (¥
2¢=4-7x
4= 27X
2

13)

24

A FE 4R

(15) 7x+8y=5 (y]

(16) 6x+2y=8 (¥

an ¢=2@+b) (a)
2(0tb)=L

20+2b =4
ERE.
5
0=""3

18 a=3b—c¢) (c)

3(b=-0)=0
3p-3c=0
-3¢c=0-— ,WVV
,WOI!.IQ.A'.W
Ol-ng,www
19 3@—b)=5 (b
3a-3b=§
.IIWVHIWJWD.
(wv.ltlfwrnTWD
B -5 +30
3
(20) muw&, (a)]
1oh=3
ah=28%
_ 24
T
3b+5¢
@2n e=—73 (¢
3b+8¢c _
5 =
3bt+de=80
bo=80-3b
= sn-3b
&

©2) <nws\§ Ch )

WEWTu<
?mr-u<
7..

urty



RO FRREMEE 2 IV, @8) [&+5y=22x+y)+8--O

wmf(ﬁd =4O % = 3ED AN R © x=—| £ O 1A
37-34-14=8~Q §-s4=1%=3 05y 2x+8g= v+ 2+ ,wco,“m
_ = = — =  ee--- ® W.&H
Ot® Y. =10 ty-§=$ 2x +38 = §
9 %WH\MQ -t4%=/0 Ox)2 _thu.h..ruwuvv_uxd\ ¥=2
==2 N e
A= 3 ¢ 47 3% =2
O3 -b6x = ¢
x ==
£y =03,-2) @»=C0-.,2 )
@4) 3M—y=—2x+3y="7 , o um@+§ulua+8...®
sx—4= 70 A= ¥ EQ AW iyt
W&H&auq::@ -§+3¢=7 o NTAN
PRSI 34:=/1% ®é) 3x+bY=—2XT2T" 4=T0 1
o3 9x~3%=21"0 . .27
/ .m..urww Ex+6% = a7 O Ex+#2 :
@+0 \.Nx, HUM\ & \_- |¢Xﬁ|fv /WNu.l._%
x= 4 @4 A(FX -8 x=—3
ﬁN'W$“|W0 VT
o - 94 =63
N $=7
“@w»=04%.& )
(25) —Hx—Ty—2=2x+3y=—1
“Exg-2=- 0 4=-3E@1IARN w v = .
4 c%v - Allzw » v
m 22 +3% =-]@ 2% -9 ="l l—y /
_lox—ldE =2 TR x =¥ S Jm mBorersoees ,
@5 10x +18d ==t O 3 3 ¢ |- 4 .® L5 HU\wme@_,&XY
e s =3 0x3 3 (ax-—5=)=3x e
=¥)-—]2 IS 1
@y =%, -3) bx -S(15H)" 3=1T
ba — (- 4= 1%
@26) 206—3y)—1=x—4y+4=3x—2y ex-\+& =712
wmch'ws‘.uwxuumse o-d 3x=79 prt e =1l
- 44 +%=3X-2¢9 x =3 o-d -* uww
Mmy) MHl%m|\"wH|Mu. A=3%@ ITAN X =
—x —44 = - o} iu:wmww
@¢1 -2x -2 =-% & 0
©Ox 2 ~¢x—%% ==& @
. @»=03,-1) W) =(-3,7 )
—04x+0.3y=07--@
Oxy fx-F4=-8 4= § O RN
x u.w,uu-%,..e\ a-10=-§
A= 2

®X\0|P\.N J..tWM N \N ..-.@\s\

Oy 4x —84:="32-0

R
4=>5

va\v”A.Nu/W\v



